electroweakino cutflow
(150, 130) GeV (150, 142.5) GeV

Cross section [pb] 5.18
All events 172004 £ 628 172004 £ 649
2 reconstructed u’s with 5 < pr < 30 GeV 12504 £17.3  242.7 £8.0
1’s oppositely charged 1199.6 £17.0 2185 £7.6
pr(pp) > 3 GeV 1176.0 £16.8 2138 £7.5
M(up) € [4,50] GeV 10952 £16.2  103.3 £5.2
M(pup) veto [9,10.5] GeV 988.6 +£154 1022 £5.2
125 < piiss < 200 GeV 46.8 + 3.4 9.8 £ 1.6
Pass y + piiss trigger requirement 30.7 + 2.3 55 + 1.0
ISR jet 279 £ 22 53 £ 1.0
Ht > 100 GeV 235 £ 2.0 41 + 08
pmiss /Hy = [0.6,1.4] 172 £ 1.7 37 £ 0.8
b-tag veto 14.0 £ 1.5 3.0 £ 0.7
M(tT) veto 123 £ 14 27 £ 07
Mr(p;, pPiss) <70 GeV, i = 1,2 93 + 1.3 22 4+ 06
f cutflow
(350, 330) GeV (350, 340) GeV
Cross section [pb] 3.79
All events 125715 £ 421 125715 + 408
2 reconstructed u’s with 5 < pp < 30 GeV 1413 + 4.8 18.0 £ 1.7
1's oppositely charged 141.3 £+ 48 18.0 £ 1.7
pr(pp) > 3 GeV 127.3 £ 45 107 £ 1.3
M(up) € [4,50] GeV 123.8 + 4.5 10.7 £ 1.3
M(up) veto [9,10.5] GeV 1154 + 4.3 10.6 + 1.3
125 < piiss < 200 GeV 141 £ 15 14 £ 05
Pass y + piiss trigger requirement 89 £ 1.0 08 £0.3
ISR jet 82 £ 1.0 0.7 £ 0.3
Ht > 100 GeV 6.1 £ 0.8 07 £ 0.3
piss / Hy = [0.6,1.4] 44 + 07 0.6 + 0.3
b-tag veto 40 £ 0.7 0.5 + 0.2
M(tT) veto 3.7 £ 0.6 05 + 0.2



